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1. SIS U SeTTd ST ST 3/ four=/ e
37) RBI ShTIaT 1934 THAR 1 TUSG 1935 BT RBI <7 WUTIAT ST
) RBI HIGheh! EIATAROT AT 1948 IR 1 STHETRT 1949 URIT RBI o TS IATHROT HATiad
EIC
1) ®th 3T 2) Bth §
3) 37 30T & Slal 4) ST ATE.
Consider the following sentences and identify the incorrect sentence / s.

a) According to RBI act 1934, RBI was established on 1 April 1935.

b) According to RBI Transfer of ownership act 1948, RBI was started functioning on 1
January 1949.

1) Only a 2) Only b

3) Both a and b 4) None

2. WS U Sera @i nfor Ay YA s,
31) SIS Gfee! Tddl sdh SIS <3Md 89T o,
) YRAId TIIA] S IATIT HoaT] RTRRT T9H TER TR 99T 2%l T ol
EoIE
F) AT ShaT ReTL doh 3h STSAT 3= AT I fReed 9T Ii-T Joae.
©) ReT€ Thdl WWYT 1935 AT HiIa=ad 1 TS 1935 3T ST
1) 3, &, F 2) Tk 37 3MoT &
3) 3, T, T 4T, F, T

Consider the following sentences and identify the correct sentence / s.

a) World’s first central bank was established in Sweden.

b) Governor General Warren Hasting was the first to recommend to establish central bank
in India.

¢) Hilton Young suggested to name central bank as Reserve bank of India.

d) Reserve bank of India was established on 1 April 1935 under act of 1935.

1) a, b, c 2) Only a and b

3)a, b, d 4 Db, cd
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3. Ang g [
1) RBI 7 1947 THd SgIe2T ATST 3T 1948 THT TTichedT™ AT hIH o
2) RATIAEeST UTees RBI Teg=R AT, 8. 32MT 2.
3) RBI o JRATGA 1937 NI Hhorshdl I Qi@ 2ad.
4) 99 INY TR,
Choose the correct option.
1) Till 1947, RBI worked for Brahmadesh and till 1948, worked for Pakistan.
2) First governor of RBI at establishment was C. D. Deshmukh.
3) In 1937, headquarter of RBI was shifted from Calcutta to Delhi.

4) All are correct.

4. GHGIDT HIOTAT fSHTOM HERTETT RBI HRATHT ATEN 2

1) 495 2) JHYR
3) SJMEE 4) APTIR.
At which place RBI regional office in Maharashtra is not present ?
1) Mumbai 2) Belapur
3) Aurangabad 4) Nagpur

5. 2020-21 9T RBI ¥ STHTEHE Y hHI0Td 318 ?

1) 1 5 o 30 S 2) 1 STHaRT 9 31 fed=”
3) 1 UUe o 31 919 4) 159 30 TS

Which is the accounting year of RBI since 2020-21 ?

1) 1 July to 30 June 2) 1 January T 31 December
3) 1 April to 31 March 4) 1 May T 30 April

6. WIHIAUHI FSe5 RBI o URUNRSE Hr ATEr ?

37) ST TH ) e 2

F) R TSTATSITT FATHTS T) TATITISH ATeheanl Ui ol
1) 3A, 9 K 2) ohth &

3) & ST ® 4) THEN e

Which of the following are not the traditional functions of RBI ?

a) Bank of bank b) Stability of prices

¢) Custody of foreign currency d) To publish financial statistics.

1) a, b, c 2) Only b

3) b and c 4) None of these
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7. RBI ¥ UITITONHE S hIoTd ATal ?

1) Sehi=T qUTEofT T 2) ST UG 20T,
RENIERCEEL R ) 4) Tata o Rasa wad.
Which is not the supervisory function of RBI ?

1) Inspection of banks 2) To give licences to banks

3) Financial inspection board 4) Enforcement of export finances.

8. WIHIAUDI HIVTd TAHT VI T Ygd HI0T RBI =T RTINS Tar ?

1% e ) 1 5. e T

%) 1 &, A9 €) A AN

1) 99 2) Hh &

3) 37 IO & 4) 3, H, T

Which of the following currency printing and currency issue are not under RBI ?
a) 1 rs note b) except 1 rs note

¢) 1 rs coin d) other coins

1) All 2) Only b

3) a and ¢ 4)a,c d

9. Iy U=/ WsEr
3T) 1956 THd RATT TSAMARITST 0T (et Tegd S1] e,
) 1956 FAX IRATT ISAAHARITST (A 4T Togd AR Hhosl.
) foraTT Mt Tegd T 115 ST T RAIT T IRRRT ol AW X 85 il T Mgd

FROTT TS,

3) fra A degd T 200 FIET B, TG MY 3qvEg e
1) 37 for & 2) F AT ©
3) 37 ITOT & 4) F AT S

Identify correct sentence/s.

a) Till 1957, in India, proportional reserve system for currency generation was applied.

b) After 1957,in India, minimum reserve system for currency generation was applied.

¢) In minimum reserve system, foreign and government debt securities of value 115crore rs
and gold of 85 crore rs value is saved.

d) In minimum reserve system , maximum reserve of 200 crore rs is saved.

1) aand c 2) a and d

3) aand b 4) c and d
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10. 1949 =T HEAAR RBI T HF Fo5 3R ?

3N T [Har ) FRETEY FIRATI
%) OFmT e RER ot ) ST YREMT 20T,
1) 3T, d, & 2)q,H, T

3) %th S 4) F AMMOT ©

What are the functions of RBI under Act of 1949?

a) Issue the currency b) Regulation of settlement system
¢) To stabilize exchange rate. d) To give license to banks.

1) a, b, c 2) b, c, d

3) Only d 4) c and d

11. TSI U™ S & 1oy ang gy e,
3) SohTeAT U [SSHThROTATSr RBI <7 ST Tasdeh .
) IRFTRYTIT FRUTTHATST Shid Fhie [SeHIhIT RBI e 2Thd.
1) %<h 3T IR°T 3R, 2) %th ¥ IT 3R,
3) Irel I 3R, 4) 8T AT AT,
Consider following sentences and choose correct option.
a) Voluntary merger of banks doesn’t need permission of RBI.
b) RBI can forcefully merge banks due to mismanagement.
1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

12. IFAGIT ST F TR IR,

H29d 2) 23 9
3) 24 F 4) 259
Shaktikant Das is _ th governor of RBI.

1) 22nd 2) 23td
3) 24th 4) 25th

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



7 EINER R ECIRIEEIR

13. WoISUS RBI TR I i .

3N AT IR ENERRSIIGE
%) . ARG ?) 9. =T g7
) ATFHE TR A
3 H ST A 4 FISTH
Arrange the following RBI governor according to tenure.

a) C. Rangrajan b) Bimal Jalan
¢) D. Subbarao d) Y. V. Reddy.
abcd 2)bcad
3)cdba 4 abdc

14. % IS R (BBB) M9 3N qATT Haer.
1) BBB U hogr=T RRIRRT G S, 8% A=A hoil ardl.
2) 1 T 2016 T BBB =T ITIAT H0GTd ST Bl
3) BBB & YUTdes JUT-eh TRAT 3TTE.
4) AT, ST AL AL TdTT M 3MTed.
Choose incorrect option about Bank Board Bureau (BBB).
1) It was recommended by P.J. Nayak committee to establish BBB.
2) It was established on 15t April 2016.
3) BBB is permanent statutory body.

4) Currently Bhanu Pratap Sharma is chairman of board.

15. 2016 7 fefSoics ue affdi= srer wnior 2 2

1) 39 ARG 2) AT AR
3) 99 SToH 4) IRAIGIA T
Who was the head of Digital Payment Committee estd. in 2016 ?
1) Ratan Wattal 2) Nachiket Mor
3) Bimal Jalan 4) Shaktikant Das

16. WRAR Rereg I a1 gt 3nroft d I I .

1) 1969 2) 1951
3) 1992 4) 1982
Lead bank scheme was started by Reserve bank of India in year .
1) 1969 2) 1951
3) 1992 4) 1982
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17. 300l d FiHETad AT [y Faer.
37) S IR, MM AT AT ShiATS! AT T JaATT.
) AT ASET ITAT T, T, R\ AR Jaaer ardl.
<h) oYddH eheh dlogehl” SdYYId 311@5
1) 37 30T & 2) T 0T &
3) ®th & 4) Tehel TEN

Choose incorrect sentence/s about lead bank scheme.

a) The committee under D. R. Gadgil suggested area approach.

b) The structure of this scheme is suggested by committee under F. S. Nariman.
¢) The ‘taluka’ is decided as smallest unit.

1) a and b 2) b and c

3) Only c 4) None

18. 2009 He RBI ST &R 39T AR JreAT TeTa@losl Ush AT IUTI ST, 3oft ek

Y L N N o <
dlstAdlsid Il [RIWMIRRIT Jddedl. HIgHAIN paml Ml DY 341%

1) 21 ST = Sdol difest.

2) UTefRreh ITHOT SRET HiST SRy ST ufest.

3) 2000 T SR BIhEAT THOMT T MMATadd & ST digdasl diigst.
4) 99 AT 3ATed.

In 2009, a committee was set up under RBI deputy governor Usha Thorat. Committee

suggested recommendation about lead bank scheme. Accordingly, which option is incorrect.
1) This scheme should be continued.

2) More responsibility should be given to regional rural bank.

3) This scheme should be reached to all villages having population more than 2000.

4) All are correct.
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19. WHTGUD TS & KT & ol TS I AATer ?
3T) ST sl
) QAT St
%) g9 deh
1) %h<h & 2) Thh A
3) Oeh & 4) Uehgl TRl
Which of the following sector doesn’t come under priority sector lending?
a) Import credit
b) renewable energy
c¢) Weaker section
1) Only c 2) Only a
3) Only b 4) None

20. WU o [T S g7 H ST ?
1) STR-ET faehTeT SHRuaTaTeT SasateT e Jadid et 2o
2) T4 st gRaor
3) Tl AR YUATHTST ol Gl
4) WSTRT H9
Which of the following is a main function of land development bank?
1) To provide long term loans to farmer for land development.
2) To provide crop loans

3) To provide loans for agriculture equipments
4) All of these

21, VT SATAGET 99 RaeT 9ed AT g/ FEer
) 9 3WSYeE THHAT U FAASET O RIS 40% o T4 3.
) T IR AHT SHAT =T ARSI foOd QRISNITSr 60% o U7 3R,
1) %h<h 37 2) ®th &
3) &I SATEA. 4) <2l e
Choose the correct sentence/s about priority sector lending.
a) All scheduled banks are bounded to lend for priority sector upto 40%.
b) All regional rural banks are bounded to lend for priority sector upto 60%.
1) Only a 2) Only b
3) Both 4) None
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22.  IEPT g el
1) RBI & 4IR0T TUTS! Hitgeh =0T TohaT T2 4ROT B,
2) Hifgs TROMAEATHS TOT OMHS ATUTEIR TATTI=T Sheb ST,
3) IR M aqTe 7 Hifgdh TROT=T =T & 3.
4) YT TR

Choose the incorrect option.

1) RBI policy known as monetary policy/ policy of money

2) In monetary policy, credit is controlled quantitatively as well as qualitatively.
3) The main objective of monetary policy is economic growth with stability.

4) None of these.

23.  WISIGUR TdI=I0T FTSIAT Hifgdh TROT=T H3Ma IRH &id ATer ?

37) =T AT YETOTER ) TR FTHRSAT HTSIERER
%) TG THOT TST GRISATER T) ol ST

1) ®th & 2) Bh ©

3) ITURT ATeT 4) WS I

Which of the following do not get affected by monetary policy for credit control.
a) Cash proportion of banks b) Interest rates imposed by banks
c) Total currency supply in country d) Availability of loans.

1) Only c 2) Only d

3) None of these 4) All of above.

24, WHBIR Foo Hilgeh GRS 3T MR 2

) AT AT Il W .

%) STARGH FHROMH T

1) h 3T 2) Bth &

3) 37 0T F 4) TIAURT T4,

Which is/ are the objectives of monetary policy.

a) Control on credit creation of commercial banks.

b) Stability of price levels in country

c) To control adverse effects of business cycle

1) Only a 2) Only ¢

3) aand b 4) All of the above
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25. oo {9 WSIGUST [hdl HISEURT THdTT ?

1) 91 fear 2) 182 feaw
3) 364 feaq 4) 365 fea9
How much is not the duration of Treasury Bills ?

1) 91 days 2) 182 days
3) 364 days 4) 365 days

26. WIHS TUH SeArd =T 3nfor Ay v e
37) TSTATIAT AT RBI HEFT UM SROT 3Taahied.
¥) TSTISTAT HST RBI W& UM HR0T 3T iad.
1) %t I I TR, 2) Fth § TN ATe.
3) T AT IR, 4) ST ST STEA.

Consider following sentences and choose correct option.

a) During inflation RBI implements dear money policy.
b) During deflation RBI implements cheap money policy.
1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

27. W U eIt &1 37T Iy gair fRaer.

3) b <X IRISAT AT HENT TZM GIROT T
¥) % R IS Aiedel AT @3 9 grdr.
1) Wtk 37 AN AR, 2) Wth F T IAE.

3) Sl TR 3MTed. 4) LT RT3,

Consider following sentences and choose correct option.

a) If bank rate increased, it is called as dear money policy.

b) If bank rate changes, interest rate also changes in same direction.
1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



12 AT Wb IRER

28. WIAHGUHI Fo3 RBI o HSATHS MIFAU TIeT ATIT 38 ?

3N I IET JHTOT ) ARAT JHS faeT
%) IR R FisT ¥) G5 TR FIER
1) ohth § 2) Thth A
3) 3F 0T § 4) 3T 3ATOT &
Which of the following is / are direct instrument of quantity control by RBI ?
a) Cash Reserve Ratio b) Liquidity Adjustment Facility
c) Market stabilization scheme d) Open Market Operation
1) Only d 2) Only a
3)aand d 4) a and c
29. AN 99T Hael.

1) CRR 3TTOT SLR 4T I@T 39T 1934 =T FHREAAR S9TRRS 3TE.
2) SLR 4T ST WA ST9® e I UBTAT WU SaTdT STl
3) ST SLR 9@ M4 9 Tecard ool SgTETs! 9r9<dr IdT.

4) IR R JT CRR el ad:sT9e 3 3rehard.

Choose correct option.

1) According to act of 1934, maintaining both CRR and SLR is compulsory.
2) SLR can be kept with bank themselves only in form of cash.
3) If tie needs so,bank may use fund in SLR to give loans.

4) Non scheduled banks can keep CRR with themselves.

30. Wlold YT SeTd =T Snfor O garer e,
3) AT R I, IhidT STIHIA T2 IRIST drear.
) R T TR IRTAN, THhidT SeThTeH J2maT IRaaT HHT gral.
1) %eh 3T IT 3R, 2) th ¥ IT 3R,

3) Sel INT 31Ted. 4) 8T 3T 3R,

Consider following sentences and choose correct option.

a) If repo rate increased, short term money supply with banks increases.

b) If reverse repo rate increased, short term money supply with banks decreases.
1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect
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3. Wole UM S & AT g 991 [Haer
31) Ry IrEg o I g&ard 2014 T T,
) Rmifae I@a gragwesd dHHT SLR T4 Mt 24 RISt ara=ar T,
1) Hth 3T I°T 3R, 2) th ¥ IT 3R,
3) ST I TR 4) ST AT AT,

Consider following sentences and choose correct option.

a) Marginal standing facility was started in year 2014.
b) In Marginal standing facility, banks are allowed to use fund from SLR for 24 hours.
1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

32. SR JOF &% 5.50% 3T M7 &8 0.50% e a3 mifde J&d giaer a% (MSFR) fohdT
TS ?
1) 5.75% 2) 5%
3) 6% 4) 5.25%
If repo rate is 5.50% and penalty is 0.50% then how much would be Marginal standing
facility rate(MSFR) ?
1) 5.75% 2) 5%
3) 6% 4) 5.25%

33, fRmifas IEE giodr S1ad s@Eng [y e

3T) hdes SLR 4T dTIR &rdl. ) SLR 3TIT9T CRR 9T TR Eral.
&) Hd TN &8 HIRAT. €) RBI gl &8 ¥l

1) 37 3nfoT % 2) F 30T 8

3) 3, %, S 4) 3, 9,8

Choose incorrect sentence/s about Marginal Standing Facility.

a) Only SLR is used. b) Both SLR and CRR can be used.
¢) Only banks pays penalty. d) RBI also pays penalty.

1) a and c 2) b and d

3 acd 4) a, b, d
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34,  ARGAT AT JIIYT FoT T I= HI0GT 3ol ?

1) 2011 2) 1991
3) 1994 4) 1999
Liquidity Adjustment Facility was started in which year ?
1) 2011 2) 1991
3) 1994 4) 1999

35.  TTRAHIT ATl 9Rd foehd o=l €T JUMR 4T &% 10T Reesd ¥ut &% SHegRIgT

JHHAT TR dRSAT [FHTOT FHAT Id. TS TEUTAT.
1) S R FIER 2) TRAAT THASTT
3) TRAT dRadT Jgraar 4) OIS QS T

Banks may create short term liquidity through repo rate and reverse repo rate transactions
which assures repurchase of government securities. Such way known as
1) Bank rate transaction 2) Liquidity Adjustment Facility

3) Minimum Liquidity Facility 4) Marginal Standing Facility

36. WHIGUH FSAT ATUAZR ST WA =TT ad Gedidl azasdT (HHATIT $hes ZTehald ?

3) d% T HAIER ) MSF

) LAF ¥) 9 TR HIER

1) %h 3T I°T IR, 2) Wth § 3NfOT & I 3R,
3) Theh 3T AT § IT 3. 4) Fh € I 3.

Banks can create long term liquidity for themselves through which of the following

instruments ?

a) Banks rate transaction. b) MSF

¢) LAF d) Base rate transaction

1) Only a is correct 2) Only b and c are correct
3) Only a and d are correct 4) Only d is correct
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37. WSS [AUM S&Td &IT ST A gai e,
3N % 3 T T I9T SITUST HIST 4.
) 2012 U RIS TET qfTT SR T dh ST AR ST
1) %h 37 I°T 3MTe. 2) %th ¥ TRT AR,

3) Sel INT 3TTed. 4) T FAFT 3ATR.

Consider following sentences and choose correct option.

a) Bank rate is always more than repo rate.

b) Since 2012, Marginal standing facility rate are equal to bank rate.
1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

38. 2016 URIT AT &2 GV HUATHT TIRR FHUMHS IATE ?

1) Bifgw «iRor af@dr L ECIEED

3) IRd IAXHR 4) STMTY® AGETR
Since 2016, who has right to declare Repo rate ?

1) Monetary Policy Committee 2) Central bank

3) Government of India 4) Economic advisore

39. STSTR RERIROT A4l I I53T FooT ?

1) IR ATV BVl JaaTers HEaT R,

2) WO TR Hehees BIOMAT FoaTerd Ha=oT FH2,
3) YREST TUTRA Fhees BIUT=T TS-arerd Fa=or &,
4) TSTRT 4.

The main objective of Market stabilization scheme is

1) To control inflation due to foreign investment

2) To control inflation due to demand side problems

3) To control inflation due to supply side problems

4) All of these.
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o O

40. FTUETSIRIG IS TS THTERIAT JS0ITAT €89 UUe 2016 ST IS deh HROTd

B T ATSER Togd B STol.

1) ITIT=T ATsTeX 2) SO STUTRT WU STSTel
3) S & Tesd 4) Rmifas et saia st e=
In order to implement repo rate system effectively in money market, in April 2016

new system of interest rate was introduced in monetary policy.

1) Prime lending rate 2) Benchmark Prime lending rate

3) Base rate system 4) Marginal cost of Lending rate

41. mifae M STaiied &st % Saa™T $8e) 9ch [GaRTd dde) Sidrd ?

3N FieRie IR 99 ) EWET Il

&) BT T ¥) I T FeEr w9
H3A 9 2)d, %, ©

3) A, 9, ¢ 4) 3, 9, h, S

Which factors are considered while deciding marginal cost of lending rate(MCLR) ?

a) Average cost of funds b) Tenor premium
¢) Operating expenses d) Cost of CRR.
Da, b, c 2) b, ¢, d

3)a, b, d 4) a, b, c, d

42. RS UTRMRIH AT Sh FHET WY ST ?
1) 1 3ffeer 1975 2) 2 32T 1975
3) 15 3T 1975 4) 26 STHET 1975
First Regional Rural Bank established on
1) 1 Oct 1975 2) 2 Oct 1975

3) 15 August 1975 4) 26 January 1975
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43, QoS IO FHelTd =T 3nfoT I uaiy .
37) USRI UTHIT S HEIET 1975 H& AF] ST
) O Faex IWA(1987) ST ST W2 JTHIOT SohT AT hRogr=il By
AT Bl
1) %th 3T I°T 3R, 2) th § IT 3R,
3) Sl TR 3MTed. 4) LT ITANT 3.
Consider the following sentences and choose the correct option.

a) Regional rural bank act was passed in 1975.
b) The Vijay kelkar committee(1987) suggested to set up maximum regional rural banks.
1) Only a is correct 2) Only b is correct

3) Both are correct 4) Both are incorrect

44. VTRRRTE ATHIOT SHSAT WIS TR FARER, 5T TRBR AT YRI5 e STI5hH
T JHTINT Hiede Jdad .
1) 50: 35: 15 2) 15: 50: 35
3) 50: 15: 35 4) 15: 35: 50

The proportion of capital invested by government of India, state government and sponsor

bank in sequence to set up Regional Rural Bank is .
1) 50: 35: 15 2) 15: 50: 35
3) 50: 15: 35 4) 15: 35: 50

45. WS IO FHeITd =T 3NeT I3 g .
37) WTef3Ieh ATHIOT Shi<t FaITes T TeRIEd 38,
) FRIMETE TATHT ATSAH TERTY AHIT ek & I ATh req P ool
F) HIE THATGT FTAGS! [9GH DT AFIT Ieh & I ATh rea P hoil
1) %eh 3T I°T 3R, 2) § 30T & IR 3TE.
3) 37 IOT & TRY 3R, 4) ITYHT Tehal TRT TEL

Consider the following sentences and choose the correct option.

HTE.
3TE.

a) Highest number of Regional Rural Banks are in Maharashtra.

b) Maharashtra Rural bank with headquarter at Aurangabad was sponsored by Bank of India.
¢) Vidarbh Konkan Rural bank with headquarter at Mumbai was sponsored by Bank of India.
1) Only a is correct 2) b and c are correct.

3) a and c are correct 4) None of these is correct.
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46. GISIS AU SeITd &7 0T F7 g e,
3T) 1969 A 14 Sehiel ABIATHIT TS,
) 1969 T IPRHROT B3 FTAGT ShieAT 34T 50 HicT YT S arT.
) 1980 T 6 e IAPATHROT ST,
2) 1980 A IASATHRIT B3 ATAedT SehieaT 3aT 250 HieT YT ST BT,
1) 3, &, & 2) A, 9, F, ©.
3) 3, F, € 49, ®H T
Consider the following sentences and choose the correct option.

a) In 1969, 14 banks were nationalized.

b) In 1969, banks to be nationalized had deposits exceeding 50 Crore.
¢) In 1980, 6 banks were nationalized.

d) In 1980, banks to be nationalized had deposits exceeding 250 Crore.
1) a, b, ¢ 2) a, b, c, d

3 a,cd 4) b, c, d

47. 2020 GET _(37)__ IIAIT ARSI ST SRR BT, S SSieon+ar Iar,_ @)

IRIAIT IR ST BT ATed.

1) 3T -29, - 15 2) 3 - 28, 9 - 12

3) 3T -27, 9 - 12 4) 37 - 27, 4 - 11

Before 2020 _ (a) __ scheduled public banks were functional. After merger of banks now,
__(b)___ scheduled public banks are functional .

)a-29,b-15 2)a-28,b - 12

3)a-27,b-12 4 a-27,b-11

48. GTSIS AU S ST 0T I 93T Fae.
3T) 1991 T TRIFET Fi=AT reeTd ST ¢ TUROM AT LTI TS e,
) 1997 A RIS ATAT AL TSIHRITNT RO AHAT LITIT ST Bl
1) %h 3T IRT TR, 2) %h & TRT TR,
3) Sl I 3R, 4) S8l AT AT,

Consider the following sentences and choose the correct option.

a) In 1991, A committee on banking sector reform was established under chairmanship of
Narasihan.

b) In 1997, A committee on financial system was established under chairmanship of

Narasihan.
1) Only a is correct 2) Only b is correct
3) Both are correct 4) Both are incorrect
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49. 1991 W WY AT R AT WISIATRT T3 RIERA/Fos THA e TR ?
37) CRR BN ‘Shiaeich & .
) SLR A HUTT e 25% T 3TTOTT,
) ReTE Tohehe Heh MEATHSE T 3T,
) 99 2000 THd NPA 3% Ydd HHT SHal.
1) %<h & 3T &
2) Wth 3T IOT &
3) 3, T, H
4) Tk 3 0T ©

Which of the following recommendation was not suggested by Narasinhan Committee which
was established in 1991 ?

a) CRR is ‘tax on banks’.

b) SLR should be reduced upto 25%

c) Reserve bank should have only regulatory work.

d) NPA should be reduced upto 3% by year 2000.

1) Only b and ¢

2) Only a and c

3 a,b,c

4) Only a and d

50. Hifgw 9ROT AHET (MPC) T8 3T 9aig fHaer.
1) 3T T AT RIEREaST 2016 T IM=IT IYTIAT HROGTT ST Bl
2) ISaTE [T YRR SIS0 FHROGME TSR A HAISGT 29aTd ATol 38,
3) Il 7 6 Fe=T .
4) MPC ¥ MU RBI 9% S9hReE THdId.

Choose incorrect option about monetary policy committee (MPC).

1) It was set up in 2016 on recommendation of Urjit Patel Committee.
2) MPC is given responsibility of implementing inflation policy.

3) Committee consist of 6 members.

4) RBI is not bounded by decisions of MPC.
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